In the given figure, the lines
labeled by 1 and 2 are,

respectively:

Select one:
Electric field lines and

equipotential lines
respectively

b. Electric Field lines
c. Equipotential lines

d. Equipotential lines
and electric field lines
respectively
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Depending on the graph,
the value of electric field (in
v/m) is:

ViV
rS

ki)

Select one:
a. .67

b. 0.6
c. 30
d.15.0
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In the Electric Field Mapping
experiment, the Equipotential lines
are

a. Always Perpendicular to
electric field lines

b. Always Parallel with electric
field lines

- ¢. Equipotential lines and
electric field lines are the
same thing

d. Equipotential lines and
electric fields lines can have
any relations to eachother




Question]

Not yet
answered

Marked out of
25

¥ Flag
guestion

Time left 0:28:31

In the Electric Field Mapping experiment, the potential difference between the anode and cathode is 30 Volt
and the distance between them is 20 cm. You are told that the potential difference between two equipotential

lines is 3 Volt. Then, the distance (in cm) between these two lines is:

a.5
b2

aed

) d. 6

) e. 45

Clear my choice



Question 4

Not yet
answered

Marked out of
25

¥ Flag
gquestion

Time left 0:21:14

There is an electric field pointing from P5 to P;.

(¢

(O c. The potential difference between the anode and P, is zero.
O d. The potential difference between Py and P is zero.

_ e.There is a current in the solution from P, to P».

Clear my choice

The sliding contact is at the position labeled P along the rheostat in the Electric Field Mapping experiment. The
galvanometer reads zero when the tip of the pointer is placed vertically in the solution between the anode and
cathode at the point labeled P, . If the pointer next is placed at the point P2 in the solution and the
galvanometer's pointer deflects, this means that:

_ a. Pyand P, are not at the same potential and the potential difference between P and P, is zero.




Question 6

Not yet
answered

Marked out of
4.00

¥ Flag
question

Time left 0:26:16

In the Electric Field Mapping experiment, the anode is placed along the y-axis with its center at x = 0 cm,
parallel to the cathode with its center at  x = 20 cm, and the potential difference between them s 25 V. The
cathode and anode each have a length of 20 cm. Then the potential difference (in V) as you go from the point
with coordinates (6 cm, 5 cm) to the point with coordinates (10 cm, -5 cm) is:

O a.l2b

O b.-10

® c.5

O d.-5

O e-125

Clear my choice
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Question 5

Not yet
answered

Marked out of
4.00

¥ Flag
question

The magnitude of the induced current in a stationary conducting (secondary) loop:

O

®

®

a. Depends only on the magnitude of the flux cutting the loop.

b. is zero when the magnetic field at the position of the loop is zero.

Time left 0:31:40

c. Depends on the rate of change of the magnetic flux cutting the loop and the resistance of the loop.

d. Depends only on the magnitude of the magnetic field at the position of the loop.

e. Depends on the area of the primary loop and the rate of change of magnetic flux cutting the secondary

loop.

Clear my choice







According to Kirchhoff's
rules, the reading of a
voltmeter (in V) across R3in
the circuit shown to the right
is:

IV

12V

3V

Select one:
Q.2

bh. 4
3
d. 1l






: In the circuit shown, to measure the current through Rs

of

Jl J3

Jy is removed, J; is plugged in, and Js is replaced by an ammeter.

& Jyis plugged in, J; is removed and J; is replaced by an ammeter.

[F._I

Jyand J; are plugged in and J; is replaced by an ammeter.

Jy and Jz are removed and J; is replaced by an ammeter.

E Jiand Jzare plugged in and J; is replaced by an ammeter.



Question 1

Not yet
answered

Marked out of
4.00

¥ Flag
question

In the circuit below, V; =10V, V2 = 4 V, and the 'otentlal drop ccross Rjis measuredtobe 4 V. T
difference (in V) as you go from point ¢ to point a in

O al4
O b.-6
O c4d
O d-4
@ e.6

Clear my choice

nJ Time left 0:45:01 ‘
- T



Question 2

Not yet
answered

Marked out of
4.00

¥ Flag
guestion

Time left 0:41:57

In Kirchoff's Rules experiment, suppose you removed jumper J; in order to measure the current in resistance R;.
During the time when J; is disconnected and the ammeter is not connected yet, which of the following is true?

O
@
O
O

O

a. All the currents |, I, and Iz have the same values as before disconnecting Jy.

b. The potential drops across resistors R, and R; do not change as a result of disconnecting J;.

c. There is no current in Ry and the currents |, and I; are different from their values before disconnecting J;.

d. The currents Is and I3 are not affected by disconnecting J;.

e. |, has the same value as before disconnecting J; but |, and 15 are different from their values before

disconnecting J;.

Clear my choice
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Question 3

Not yet
answered

Marked out of
25

% Flag
guestion

Time left 0:24:39

You are given two Ohmic resistors R; and R, and asked to use Ohm's law to verify that their equivalent
resistance when they are connected in series is their sum. Which circuit do you set up?

O Q. o




‘ Time left 0:24:34 ‘







Next page
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Suppose a power supply has
an emf of 60 Volt and an

internal resistance of 20 Ohm.
The maximum power (in
Watt) that can be dissipated
INn a series resistance
connected with it is:

O a9

O b. 90

® C.225

O d. 45

O e.180

Clear my choice



Time left 0:04:43

Question 8 Suppose o power supply has an emf of 20 Volt and an internal resistance of 10 Ohm. The maximum power (in
Not yet w::]tt) that can be dissipated in a series resistance connected with it is:
answered
Marked out of O a. 10
25
¥ Flag O b.20
question () ¢.25
@ d. 40
() eb

Clear my choice

Finish attempt ...



Question “

Not yet
answered

Marked out of
4.00

% Flag
guestion

In the Power Transfer experiment, which of the following is true during the experiment?

@ O O O

O

Time left 0:05:41

a. The power dissipated by the load resistance is always greater than the power dissipated by the source.

b. We keep the potential difference across the load resistance constant.
c. The power dissipated by the source is constant.
d. The current is constant.

e. We vary the load resistance but keep the emf of the power supply constant.

Clear my choice




The figure below represents
the charging process for a
capacitor of value C
connected to a power
supply (V = 5Volt) across
resistance R.

The approximate values of R
and C respectively are

In(l)
[sec)

85
(30,-9.96)

(60,-10.7)

Select one:
a.
50KQ , BOOpF
b.
20KQ , 16pF
[l
25K0 , 1600pF

d.
10KQ , 80pF



Depending on the graph of
Ve versus t for the charging
process in RC circuit, the
time constant t (in second)
|s:

Ve(t)

Select one:
a. 145

b.187.55
c.158.7
d.173.12



| = |






Time left 0:16:56

In @ RC circuit with power supply with an emf of 20 V, capacitance 3 pF, and resistance 1000 [, the slope (in units of Cfs) of the

curve of Q (the charge on the capacitor) vs t (the time elapsed after starting the charging) att = 0 s is:
O a 02
D b.-02
O c.0
O d 0.02
O e.-0.02

Next page
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In a RC circuit starting from zero capacitor charge, during charging:

a. The potential across the capacitor is decreasing and its charge is increasing.

Time left 0:10:46

b. The magnitude of the potential difference across the capacitor is increasing but is decreasing across the resistor,

c. The current in the circuit is decreasing but the potential difference ocross the capacitor is constant.

d. The time it takes to charge the capacitor to half its maximum charge is half the time needed to fully charge the capacitor.

€. The current decreases with time linearly.




Time left 0:07:25

question 10 In a RC circuit with power supply with an emf of 10 V, capacitance 5 pF, and resistance 1000 Q, the slope (in
Not yet units of C/s) of the curve of Q (the charge on the capacitor) vs t (the time elapsed after starting the charging)
answered .

att=0sis:

Marked out of
4.00

O a0

¥ Flag

question QO b.-01
® c.-0.01
O d. 0l
O e.0.01

Clear my choice



Question ]3

Not yet
answered

Marked out of
4.00

¥ Flag
guestion

In a RC circuit starting from zero capacitor charge, during charging:

O

Time left 0:01:16

a. The time it takes to charge the capacitor to half its maximum charge is half the time needed to fully

charge the capacitor.

b. The potential difference across the capacitor is decreasing and its charge is increasing with time.

O c. The current in the resistor decreases with time linearly.

d. The current in the resistor is decreasing but the potential difference across the capacitor is constant.

e. The the current in the resistor is decreasing and the magnitude of the potential difference across the

capacitor is increasing.

Clear my choice

Finish attempt ...
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- Consider two metals with specific charges ky and k,, respectively. Thaions of the first metal h
mass of the ions of the second metal and 3/2 their charge. Which of the following is true?

| |

O ak=2Kk



Question 2

Not yet
answered

Marked out of
25

¥ Flag
guestion

Time left 0:27:16

One metal has a certain specific charge given by k. The ions of a second metal have twice the charge of the
ions of the first metal and 3/2 the mass of the first metal. Which of the following is true, where k; is the specific

charge of the second metal?

O a.k =(4/3) ks

® b.k, =(4/3) k

:3 C. k} =3 kg
O d. ko = (3/4) k
’:: 20 klz =3 k]

Clear my choice
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In the Magnetic Field experiment, let the magnetic fields of Earth and the coil be H: and He, respectively. The compass and
galvanometer are initially set up before turning the power supply on. After turning the power supply on, the needle of the
compass deflects by an angle 8. Which of the following is true when performing the different steps of the experiment?

) a. The relation between the current in the coil and the total magnetic field is linear.

(0 b. The angle B and Hg are varied but Hg is constant.

) €. He is constant but H- and B vary.

C} d. The angle 8 and the current in the coil are varied, but Hz and He are constant.

) e. He and He are constant but 8 varies.

Next page



Time left 0:37:32

Question 3 In the Magnetic Field of a Current experiment, when we decrease the current in the coil, which of the following is
Notyet true?

answered

MokoR el O a. The direction of the magnetic field of Earth does not change but its magnitude decreases.

4.00

¥ Flag O b. The magnitude of the total magnetic field at the center of the coil increases but its direction does not
question change.

O c. The magnitude and direction of the coil's magnetic field at the center change.

O d. Both magnitudes of the magnetic fields of the coil and Earth decrease.

@® e. Both the total magnetic field at the center of the tangent galvanometer and the angle of deflection of
the compass decrease.

Clear my choice
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i} o Only the total length of the wire.

'0) b Only the known em! of the powes SUpply:
i

":- unkniown &mil ond the tolol length ot the wirs
-‘Il‘E emil of the power supply, the unknown emt, the rasistivity olthe wire, and the total length of

o

B Bath the unknown emi and the known emmil of the power supply

e Yy choice




Question 5

Not yet
answered

Marked out of
25

¥ Flag
question

Time left 0:15:16

The figure below is the Potentiometer circuit, showing the balance point at a distance L from the left end of the

meter wire. The position of the balance point along the wire depends on:
=15V

L. ¥ TUeee
—l}—(é
&

O a. The known emf of the power supply and nothing else.

O b. The unknown emf, the emf of the power supply, the total length of the wire, and the resistivity of the wire.

@ c. Both the emf of the power supply and the unknown emf.
(O d. The total length of the wire and nothing else.

(O e. The total length of the wire and the unknown emf.

Clear my choice




Question 6

Not yet
answered

Marked out of
25

¥ Flag
question

) a.0.2V/em
O b.20V/cm
O ec.01LV/em
O d.10LV/em

() e.20cm/V

Clear my choice

Time left 0:13:20

D meter wire

In the Potentiometer experiment, let the known emf of the power supply be E = 20 volts. The slope of the graph
V vs L (where L is the length in cm of the wire segment shown in the figure, and V is the potential difference
measured by the voltmeter between the ends of the wire segment of length L) is:




Question 4

Not yet
answered

Marked out of
2.00

¥ Flag
question

Time left 0:35:20

During the Potentiometer experiment, which of the following is true when we find the balance point?

@® a. The potential difference across the wire is the same as during calibration.

O b. The unknown emf is equal to the potential difference between the two ends of the wire.
O c. The potential difference between the beginning and end of the wire is the same as the unknown emf.
O d. The potential difference between the beginning of the wire and the balance point is zero.

O e. The potential difference between the end of the wire and the balance point is zero.

Clear my choice



















Time left 0:34:48

A nen-Ohmic resistance R; is connacted in series with an Ohmic resistance R; between points A and B in a conducting circuit.

The current in R2 is . Then the potential difference between A and B:

© a. Depends non-linearly on the current in Ry

O b.is non-linearly related to the current in Ra.

O c.isequal te |, (R{+R,) for any value of I,.

) d. Depends linearly on the current in the equivalent resistance of R, and R, between A and B.

' e. Depends on the current in Ry non-linearly and linearly on Iz .




Time left 0:09:11

Question 7 An unknown resistance Ry and a known resistance Rs are connected in the Wheatstone Bridge, using a power
Not yet supply with a certain emf and a wire of length 1.00 m, and the lengths L; and L, were determined. Using the
answered

same Ry in the circuit, which of the following would change the position of the balance point along the wire?
Marked out of

i O a. Using a wire with a different thickness.
" Flag
question O b. Reversing the polarity of the power supply.

(O c.Changing the length of the wire or using a power supply with a different emf.
@ d.Using a different Rs or a changing the length of the wire.

(U e. Using a wire made from a different Ohmic material.

Clear my choice




Question 8

Not yet
answered

Marked out of
4.00

¥ Flag
guestion

Time left 0:16:18

In the Wheatstone Bridge experiment, suppose we found the balance point for a given Rs and the ratio L2/L1 is
found. When the known resistance is doubled and the balance point is found again, then the new 12/L1 value:

O

O

a. is half the original value.

b. stays the same.

@® c.is twice the original value.

d. cannot be known without measurement.

e. Not enough information is provided.

Clear my choice



Question Q

Not yet
answered

Marked out of
4.00

¥ Flag
question

Time left 0:13:02

If two resistors Ry and R; are connected in series between points A and B in a conducting circuit, and you'e told
R1is Ohmic but Rz is not. The current in R, is l.. The potential difference between A and B:

O
O

a. Depends linearly on the current in Ra.

b. is linearly related to the current in R;.

c.is equal to I (Ri+R,) for any value of R, or R..

d. Depends linearly on the current in the equivalent resistance of R; and Rp between A and B.

e. Depends on the current in Ry, non-linearly and linearly on |;.

Clear my choice



Question ]2

Not yet
answered

Marked out of
4.00

¥ Flag
guestion

During the Wheatstone Bridge experiment, which of the following is true?

@®
O
O

@

a. We vary both the known and unknown resistances.
b. We vary the known resistance and as a result the total current in the circuit changes.
c. We assume the currents in the wire and the unknown resistance are the same.

d. It is important to keep the current in the wire constant.

Time left 0:03:13

e. We vary the unknown resistance and as a result the current in the unknown resistance changes.

Clear my choice
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